
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37

1x 21 12 35 17 28 1 27 24 32 0 34 20 36 29 30 18 26 14 4 31 9 15 16 25

2x 17 35 32 1 12 26 21 20 31 4 5 0 24 30

3x 17 35 32 3 3

4x 17 1 1

5x 17 1 1

6x

7x

8x

9x

10x

11x

12x

13x

14x

15x

16x

17x

18x

19x

20x

24

17 6 10

41

13488 2563 111532 115020   1.0312735 13.06.25 (49)
13304 2523 111356 114660   1.0296706 12.06.25 (48)  

HAL strike rate going up. 
Could have kept going. But to me, if I carried on I'd say I'll have loads of repeats. Reason. Yes, if times top 3 matches by 3; it makes 18, to 
the top 9,10 matches. Remember what the genius said for 9 numbers horses, could get only 6 matches. So, as top 3 are well in front and
the usual score for 60 spins is 30/30. And only at 17 repeats; the 1x need to fill and so do 2x-3x.
I'll leave it there.




